Assessment Rubric

Rubric for Mapping Stakeholders Activity

Assessment of Unsatisfactory Emergent Satisfactory Exemplary
Maps (Step 2)
(2) (2) (3) (4)

Stakeholders Includes at least Includes at Includes at Includes two
one example of a | least one least one or more
stakeholder from | example of a example of a | examples of a
two of the four stakeholder stakeholder stakeholder
general from three of | from all four | from all four
stakeholder the four of the general | of the general
types: local general stakeholder stakeholder
residents, stakeholder types types
government, types

environmental
advocates, and

economic
advocates
Pillars of Collectively, Collectively, Level 2, plus Level 3, plus
Sustainability evidence across evidence evidence for | evidence for
all the across all the at least one more than one
stakeholder stakeholder stakeholder stakeholder
positions positions correctly correctly
correctly includes | correctly includes two | includes at
one or two of the | includes all pillars of least two
pillars of three of the sustainability | pillars of
sustainability: pillars of sustainability
society, economy, [ sustainability
and the

environment




Organization of Visual features do | Visual features | Layout, Multiple visual
visual features: not add to the convey a point | colors, or elements are
Layout, colors, written text about | about the symbols used to clearly
symbols, etc. the stakeholders | stakeholders clearly convey | convey a point
and their and their a point about | (or points)
positions positions. the about the
However, this | stakeholders | stakeholders
has to be and their and their
verbally positions. positions.
explained to be
understood.
Assessment of Unsatisfactory Emergent Satisfactory Exemplary
Solutions
(Written Step 3 & (2) (2) (3) (4)
Presentations
Step 4)
Proposed Describes in Describes in Level 2, plus Level 3, plus
Solution general what the | general what provides a provides clear
stakeholders the specific, reasoning
should do to solve | stakeholders concrete about the
the issue, but should do to example of short and
does not back up | solve the issue, | the action long-term
this claim with and backs up that should impacts of
evidence this claim with | be taken and | taking the
specific identifies the | proposed
evidence correct specific,
related to stakeholder concrete
multiple to take action | action

stakeholders




